
Description EAN Code 価格(税抜) D2EVO OP
HB100551 LOCK NUT M2.5 (4pcs) 4944258952130 ¥800 EVO
HB100559 BUTTON HEAD SCREW M3x14mm (HEX SOCKET/10pcs) 4944258952277 ¥950 EVO
HB100864 BUTTON HEAD SCREW M2.5x4mm (HEX SOCKET/10pcs) 4944258517117 ¥900 EVO
HB101298 DIFF GEAR SET 4944258521022 ¥1,650 EVO
HB107894 BUTTON HEAD SCREW M3x22mm (10pcs) 4944258015415 ¥900 EVO
HB109132 CONE WASHER M3 (ORANGE/5pcs) 4944258030630 ¥2,150 EVO
HB112724 BALL CUP SET 4944258023533 ¥900 EVO
HB112725 BALL CUP SET (SMALL) 4944258023540 ¥900 EVO
HB112727 BALL STUD 4.8x5x6mm (4pcs) 4944258023571 ¥2,200 EVO
HB112728 BALL STUD 4.8x5x8mm (4pcs) 4944258023588 ¥2,200 EVO
HB112739 FLAT HEAD SCREW M2x5mm (HEX SOCKET/10pcs) 4944258023694 ¥750 EVO
HB112754 SERVO/RECEIVER MOUNT SET 4944258023847 ¥5,000 EVO
HB112788 12mm BIG BORE SHOCK SET (88mm/PAIR) 4944258024202 ¥11,000 EVO
HB112790 SHOCK PISTON SET (4x1.2mm/1.3mm/1.4mm/Blank) 4944258024226 ¥1,650 EVO
HB112791 SHOCK SEAL SET 4944258024233 ¥900 EVO
HB112794 WASHER SET 3x7mm (0.5mm/1.0mm/ORANGE/6pcs) 4944258024264 ¥2,100 EVO
HB112797 WASHER SET 3x6mm (0.5mm/1.0mm/2.0mm/ORANGE/6pcs) 4944258024295 ¥2,100 EVO
HB112962 TURNBUCKLE M3 x 48mm (2pcs) 4944258025056 ¥1,500 EVO
HB112965 SET SCREW M3 x 16mm (6pcs) 4944258025087 ¥900 EVO
HB112983 BALL STUD 4.8x5x10mm (4pcs) 4944258025094 ¥2,200 EVO
HB114673 SILICONE O-RING P-3 (#30/YELLOW/20pcs) 4944258033679 ¥2,100 EVO
HB114753 SHOCK CAP BUSHING (4pcs) 4944258033266 ¥900 EVO
HB114761 BUTTON HEAD SCREW M2.5x6mm (HEX SOCKET/10pcs) 4944258033464 ¥900 EVO
HB115136 ALUMINUM SHOCK STANDOFF (4pcs) 4944258033877 ¥2,100 EVO
HB116261 SHOCK PISTON SET (2x1.6mm/2x1.7mm) 4944258035758 ¥1,650 EVO
HB116262 SHOCK EYELET/PERCH SET (2pcs) 4944258036083 ¥1,500 EVO
HB116264 12mm SHOCK HARDWARE PARTS SET V2 4944258036168 ¥900 EVO
HB116272 SPUR GEAR 78T 4944258036335 ¥1,200 EVO
HB116298 GEAR DIFF SEAL (3pcs) 4944258036663 ¥900 EVO
HB116308 IDLER GEAR AXLE (3pcs) 4944258036786 ¥1,800 EVO
HB116310 SLIPPER PAD SET (3pcs) 4944258036823 ¥2,100 EVO
HB116311 TOP SHAFT SET 4944258036830 ¥2,400 EVO
HB204240 D2 Evo 1/10 Competition Electric Buggy 2wd 7630015742409 ¥99,000 EVO
HB204348 Front Shock Body (D418) 7630015743482 ¥4,500 EVO
HB204349 Front Shock Shaft (D418) 7630015743499 ¥2,250 EVO
HB204350 Rear Shock Body (D418) 7630015743505 ¥4,500 EVO
HB204351 Rear Shock Shaft (D418) 7630015743512 ¥2,250 EVO
HB204371 M2 x 5mm BHCS (1.5mm hex) 7630015743710 ¥900 EVO
HB204375 JConcept D418 Buggy Wing 7630015743758 ¥2,940 EVO OP
HB204382 Front Spring 55 (D418) 7630015743826 ¥1,700 EVO OP
HB204383 Front Spring 60 (D418) 7630015743833 ¥1,700 EVO OP
HB204384 Front Spring 65 (D418) 7630015743840 ¥1,700 EVO OP
HB204385 Front Spring 70 (D418) 7630015743857 ¥1,700 EVO OP
HB204386 Front Spring 75 (D418) 7630015743864 ¥1,700 EVO
HB204387 Rear Spring 30 (D418) 7630015743871 ¥1,700 EVO OP
HB204388 Rear Spring 35 (D418) 7630015743888 ¥1,700 EVO OP
HB204389 Rear Spring 40 (D418) 7630015743895 ¥1,700 EVO OP
HB204390 Rear Spring 45 (D418) 7630015743901 ¥1,700 EVO
HB204391 Rear Spring 50 (D418) 7630015743918 ¥1,700 EVO OP
HB204392 Front Shock Kit (D418) 7630015743925 ¥8,500 EVO
HB204393 Rear Shock Kit (D418) 7630015743932 ¥8,500 EVO
HB204413 Velcro Tape 20x200mm 7630015744137 ¥900 EVO OP
HB204449 D418 King Pin Bushing (plastic) 7630015744496 ¥900 EVO
HB204505 D2 Evo ackerman plate no.3 7630015745059 ¥3,300 EVO OP
HB204506 D2 Evo ackerman plate no.4 7630015745066 ¥3,300 EVO OP
HB204507 D2 Evo ackerman plate no.5 7630015745073 ¥3,300 EVO
HB204508 D2 Evo ackerman plate no.6 7630015745080 ¥3,300 EVO OP
HB204510 D2 Evo battery bracket 7630015745103 ¥4,900 EVO
HB204511 D2 Evo camber link mount set 7630015745110 ¥4,480 EVO
HB204512 D2 Evo chassis 7630015745127 ¥16,800 EVO
HB204513 D2 Evo C-mount set 7630015745134 ¥4,500 EVO
HB204514 D2 Evo D-mount 7630015745141 ¥4,500 EVO
HB204515 D2 Evo front arm mount (0) 7630015745158 ¥5,600 EVO
HB204516 D2 Evo front axle (3mm) 7630015745165 ¥3,100 EVO
HB204517 D2 Evo carbon front shock tower 7630015745172 ¥7,000 EVO
HB204519 D2 Evo gearbox set (upper) 7630015745196 ¥12,000 EVO
HB204520 D2 Evo motor mount standoff 7630015745202 ¥980 EVO
HB204521 D2 Evo motor mount 7630015745219 ¥5,600 EVO
HB204522 D2 Evo rear shock tower set 7630015745226 ¥7,000 EVO
HB204523 D2 Evo wing mount 7630015745233 ¥2,500 EVO
HB204524 D2 Evo steering rack 7630015745240 ¥4,200 EVO
HB204527 D2 Evo idler gear 37T(Aluminum) 7630015745271 ¥3,100 EVO
HB204528 D2 Evo front arm set 7630015745288 ¥3,100 EVO
HB204529 D2 Evo battery strap 7630015745295 ¥900 EVO
HB204530 D2 Evo bumper 7630015745301 ¥2,800 EVO



HB204531 D2 Evo caster block 7630015745318 ¥12,600 EVO
HB204532 D2 Evo caster & arm insert set 7630015745325 ¥3,300 EVO
HB204533 D2 Evo chassis brace set 7630015745332 ¥3,100 EVO
HB204536 D2 Evo gearbox cover set 7630015745363 ¥2,500 EVO
HB204537 D2 Evo side guard 7630015745370 ¥2,800 EVO
HB204538 D2 Evo steering belcrank set 7630015745387 ¥2,800 EVO
HB204539 D2 Evo steering block set 7630015745394 ¥2,800 EVO
HB204541 D2 Evo belcrank crush tube 7630015745417 ¥900 EVO
HB204542 D2 Evo rear arm set 7630015745424 ¥2,800 EVO
HB204543 D2 Evo shock eyelet ball 7630015745431 ¥2,500 EVO
HB204544 D2 Evo hub carrier 7630015745448 ¥8,400 EVO
HB204547 D2 Evo stub axle (cvd) 7630015745479 ¥3,300 EVO
HB204548 D2 Evo clamping Hex (5mm) 7630015745486 ¥3,300 EVO
HB204549 D2 Evo arm mount pill & hub carrier insert set 7630015745493 ¥3,300 EVO
HB204581 Aluminum Shock Caps Emulsion Set 1:10 (2pcs) 7630015745813 ¥4,480 EVO
HB204582 Shock Cap O-Ring (10pcs) - fit #204581 7630015745820 ¥1,100 EVO
HB204588 Flush Fastener M3x6mm (10pcs) 7630015745882 ¥900 EVO
HB204590 D2 Evo gearbox set 7630015745905 ¥16,000 EVO
HB204591 D2 Evo top shaft 7630015745912 ¥2,800 EVO
HB204592 D2 Evo top shaft gear 7630015745929 ¥3,100 EVO
HB204593 D2 Evo slipper disc set 7630015745936 ¥3,300 EVO
HB204594 D418 CVD Rebuild Kit 7630015745943 1,500 EVO
HB204626 Rear Wing 1:10 Buggy (Carpet-Astro High-Clearance -Jconcept) 7630015746261 ¥2,600 EVO OP
HB204663 D2 Evo Front Bulkhead 7630015746636 ¥8,400 EVO
HB204664 D2 Evo steering block bushing set 7630015746643 ¥2,800 EVO
HB204667 CVD dogbone (67.5mm) 7630015746674 ¥4,200 EVO
HB204669 D2 Evo outside hinge pin front 7630015746698 ¥2,500 EVO
HB204670 D2 Evo inside hinge pin front 7630015746704 ¥900 EVO OP
HB204692 Servo Mount V2 (D418- D2 Evo) 7630015746926 ¥3,200 EVO
HB204762  Eat/Sleep/Race/Repeat T-Shirt (M) EVO OP
HB204763  Eat/Sleep/Race/Repeat T-Shirt (L) EVO OP
HB204791 HB Racing #heatwave limited edition T-shirt (S) 7630015747916 ¥5,000 EVO OP
HB204792 HB Racing #heatwave limited edition T-shirt (M) 7630015747923 ¥5,000 EVO OP
HB204793 HB Racing #heatwave limited edition T-shirt (L) 7630015747930 ¥5,000 EVO OP
HB204797 D2 Evo droop tab 7630015747978 ¥4,480 EVO
HB204798 D2 Evo front arm mount (2.5) 7630015747985 ¥5,600 EVO OP
HB204799 D2 Evo front axle (5mm) 7630015747992 ¥3,300 EVO OP
HB204800  D2 Evo front axle (4mm) 7630015748005 ¥3,300 EVO OP
HB204801 D2 Evo carbon arm cover (front) 7630015748012 ¥4,900 EVO
HB204802 D2 Evo carbon arm cover (rear) 7630015748029 ¥4,900 EVO
HB204803 D2 Evo hub camber mount 7630015748036 ¥4,480 EVO
HB204804 D2 Evo clamping Hex (4mm) 7630015748043 ¥3,300 EVO OP
HB204805 D2 Evo clamping Hex (6mm) 7630015748050 ¥3,300 EVO OP
HB204806 D2 Evo Front ball stud mount 7630015748067 ¥4,480 EVO
HB204807 D2 Evo outside hinge pin rear 7630015748074 ¥2,500 EVO
HB204808 D2 Evo inside hinge pin rear 7630015748081 ¥1,000 EVO
HB204809 D2 Evo diff pill set 7630015748098 ¥2,800 EVO
HB204810 D2 Evo diff gear 7630015748104 ¥2,500 EVO
HB204811 D2 Evo gear diff case cover 7630015748111 ¥3,300 EVO
HB204812 D2 Evo gear diff outdrive 7630015748128 ¥3,500 EVO
HB204813 Turnbuckle M3x44mm (2pcs) 7630015748135 ¥2,500 EVO
HB204814 Washer M3.5x6.5x1mm (6pcs) 7630015748142 ¥2,500 EVO
HB204815 Washer M5x0.7x1mm (5pcs) 7630015748159 ¥2,500 EVO
HB204816 Ballstud M3x4.8x4.0x8 (5pcs) 7630015748166 ¥3,300 EVO
HB204817 D2 Evo differential shaft set 7630015748173 ¥2,380 EVO
HB204829 PIN1.6X10mm(10pcs) EVO
HB204835 D2 Evo chassis weight - Servo 7630015748357 ¥4,000 EVO OP
HB204836 D2 Evo chassis weight - ESC 7630015748364 ¥4,400 EVO OP
HB204837 D2 Evo chassis weight - Battery 7630015748371 ¥6,300 EVO OP
HB61094 WHEEL NUT M4 SERRATED (BLACK/4pcs) 4944258610948 ¥1,650 EVO
HB66595 O-Ring P5 Black (4pcs) 4944258665955 ¥900 EVO
HB67167 HB Aluminum Steering Servo Horn (23) 4944258671673 ¥1,400 EVO OP
HB67169 HB Aluminum Steering Servo Horn (25) 4944258671697 ¥1,400 EVO
HB67202 Light weight shock stand off (2pcs) 4944258672021 ¥2,250 EVO
HB67351 Shock End/Shock Spring Retainer Set 4944258673516 ¥900 EVO OP
HB67777 HB MEGABITE TIRE (Red/Rear/ 1/10 Buggy) 4944258677774 ¥2,940 EVO OP
HB67778 HB FULLSLOT TIRE (2pcs/Red/2wd Front/ 1/10 Buggy) 4944258677781 ¥3,000 EVO OP
HB67779 HB DOUBLE BLADES TIRE (2pcs/Red/2wd Front) 4944258677798 ¥2,940 EVO OP
HB67784 HB BEAMS TIRE (2pcs/Pink/Rear/ 1/10 Buggy) 4944258677842 ¥3,200 EVO OP
HB67961 HB MEGABITE TIRE (2pcs/Pink/Rear/ 1/10 Buggy) 4944258679617 ¥3,200 EVO OP
HB67974 HB FULLSLOT TIRE (2pcs/Pink/2wd Front/ 1/10 Buggy) 4944258679747 ¥3,200 EVO OP
HB67987 HB DOUBLE BLADES TIRE (2pcs/Pink/2wd Front) 4944258679877 ¥3,200 EVO OP
HBB014 Ball bearing 3x8x3mm (2pcs) 4944258710143 ¥1,400 EVO
HBB018 5x13x4mm ball bearing (2pcs) 7630015785970 ¥1,400 EVO
HBB021 BALL BEARING 5x10x4mm (2pcs) 4944258710211 ¥1,800 EVO
HBB022 BALL BEARING 5 x 11 x 4mm ZZ (2 pcs) 4944258028224 ¥1,800 EVO



HBB030 BALL BEARING 10x15x4mm (2 pcs) 4944258028309 ¥2,250 EVO
HBZ081 FLAT HEAD SCREW M3x6mm (HEX SOCKET/10pcs) 4944258950815 ¥900 EVO
HBZ082 FLAT HEAD SCREW M3x8mm (HEX SOCKET/10pcs) 4944258950822 ¥900 EVO
HBZ083 FLAT HEAD SCREW M3x10mm (HEX SOCKET/10pcs) 4944258950839 ¥900 EVO
HBZ084 FLAT HEAD SCREW M3x12mm (HEX SOCKET/10pcs) 4944258950846 ¥900 EVO
HBZ090 FLAT HEAD SCREW M3x22mm (HEX SOCKET/11pcs) ¥900 EVO
HBZ224 WASHER M3 x 8mm 4944258002248 ¥900 EVO
HBZ263 PIN 2x8mm (12pcs) 4944258959801 ¥900 EVO
HBZ264 PIN 2 x 10mm SILVER 4944258952642 ¥900 EVO
HBZ351 BUTTON HEAD HEX SOCKET SCREW M3x6mm 4944258960005 ¥900 EVO
HBZ352 BUTTON HEAD SCREW M3x8mm (HEX SOCKET/10pcs) 4944258953526 ¥900 EVO
HBZ353 BUTTON HEAD SCREW M3x10mm (HEX SOCKET/10pcs) 4944258953533 ¥900 EVO
HBZ354 BUTTON HEAD SCREW M3x12mm (HEX SOCKET/10pcs) 4944258953540 ¥900 EVO
HBZ356 BUTTON HEAD SCREW M3x18mm (HEX SOCKET/10pcs) 4944258953564 ¥900 EVO
HBZ662 LOCK NUT M2 (4 pcs) 4944258006628 ¥900 EVO
HBZ663 LOCK NUT M3 (6 pcs) 4944258006635 ¥900 EVO
HBZ676 LOCK NUT M3 THIN TYPE 4944258956763 ¥900 EVO
HBZ700 SET SCREW M3 x 3mm (6 pcs) 4944258007007 ¥900 EVO

ORI14522 V-Max-HV Graphene Tech Shorty 3800 ULCG 7.6V 2S 128C 7612888145228 ¥6,900 EVO
ORI14523 V-Max-HV Graphene Tech Shorty 4200 LCG 7.6V 2S 128C 7612888145235 ¥8,400 EVO
ORI14524 V-Max-HV Graphene Tech Shorty 6200 7.6V 2S 128C 7612888145242 ¥11,900 EVO


